Solutions to Homework No. 8 (Chapter 3)
Review Questions
14. Yes
16. An elastic collision is one where rebound is without lasting deformation or the generation of heat. An inelastic collision is one where deformation does occur, or heat is generated.
18. Has same initial speed of A.
Exercises
13. The conservation of momentum was overlooked. Your momentum forward equals the momentum of the recoiling craft.
16. Cars brought to a rapid halt experience a change in momentum, and a corresponding impulse. But greater momentum change occurs if the cars bounce, with correspondingly greater impulse and therefore greater damage to the passengers. Less damage to the passengers results if the cars stick upon impact than if they bounce apart.
18. Newton's third law states that the action-reaction forces are equal and opposite. Say the force A exerts on B equals the opposite of force of B on A. Since these forces occur in equal times, the impulses are equal and opposite. It then follows that the respective momentum changes will be equal and opposite
